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1. If Linda spent all of the money in her purse, she could buy 2 cups of coffee and 3
chocolate cakes. Linda had 22 units of currency in her purse and coffee cost 2 units of
currency per cup. If x denotes the number of cups of coffee and y denotes the number
of chocolate cakes purchased, the set of commodity bundles that she could just afford
with the money in her purse is described by the equation

(1) 2x + 6y = 22.

Q) 2x + 3y = 22.

Linda’s utility function is U(x, y) =x + 4y — . Given above budget equation, how
many cups of coffee (x) will she demand to maximize her utility?

(3)9.125

495

(5) There is not enough information to determine the answer.

2. What the following statements regarding a competitive market are not correct?

(1) Suppose a firm reduces its output by 10 percent. As a result, the price of its output
is likely to decrease by less than 10 percent.

(2) Price and marginal revenue are equal.

(3) A firm’s total revenue must be proportional to its quantity of output.

(4) If a firm is currently producing a level of output at which marginal cost exceeds
marginal revenue, then a one-unit decrease in output will decrease the firm's profit.
(5) The firm's short-run supply curve is that portion of the marginal cost curve that

lies above average total cost.

3. What the following statements are not correct?
(1) Inflation tax means that as the price level rises, the real value of money held by the

public increases.

(2) The real interest rate is equal to the nominal interest rate minus the expected | 2

EERBER &

inflation rate.
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(3) As the short-run Phillips curve shifts downward, there is a lower-expected rate of
inflation at the level of unemployment.

(4) Assume that an economy has the Phillips curve 7 = £ — 0.2(u — 0.03). Then the
natural rate of unemployment is 6%.

(5) U.S. production function is ¥ = 540LY. If the labor supply curve is L = 2700(W/P),
the real wage (W/P) will be 2.

4. What the following statements are not correct?
(1) The production function is Y= AK®315? where 4 is a measure of the level of
technology. We know that capital grows at 2 percent per year and labor grows at 3
percent per year. If the growth rate of output is 2.8 percent per year, the growth in
total factor productivity will be 0.7 percent per year.
(2) In the Solow growth model, if the production function is given by Y=F(K,L)=
K%31%3 the saving ratio (s) is 0.7, and the depreciation rate (d) is 0.2 ( but no
technological growth and no population growth), then the change in capital stock per
worker is given by the equation Ak = sf(k) - 5k, and the steady-state ratio of output per
worker () is 4.
(3) If there is an expected deflation in the IS-LM model, the real interest rate will
increase to shift the IS curve downward. The level of output falls.
(4) For any given price level, an increase in the money supply shifts the LM curve
downward, and raises output. An increase in the money supply shifts the aggregate
demand curve to the right.
(5) Given the following information about the closed economy:

C=300+0.7DI, where DI is the disposable income,

1=200+0.2Y, G=600, T=100.

The private savings is $2860 in this economy.
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1. OPEC's deal to cut oil production could end earlier than expected (Jan. 9, 2018)

OPEC and its Russia-led non-OPEC allies in the deal managed to stay together for
a full year of high compliance with the oil production cuts and have agreed to extend
the pact for a second year to the end of 2018.

This year, however, the cartel and friends face even more challenges in sticking
together until the end of the December, with both supply and demand uncertainties
adding to the unknowns.

On the one hand, within the cartel, possible production slumps from two OPEC
members could trigger an early exit. Another internal OPEC factor could be the
ever-present possibility that some members may cheat on the production cut deal
outright now that oil prices are higher.

On the other hand, factors outside OPEC’s control, such as U.S. shale production
expansion and potentially strong global oil demand growth, could also spell the end of
the production pact. OPEC could see U.S. shale as rising too much and threatening to
eat away at an even bigger portion of the cartel’s market share. Or some phenomenal
oil demand growth, stemming from solid economic growth, could help OPEC to
accomplish its mission to draw the global oil inventories down to their five-year
average somewhere around the time the cartel meets to review the deal in June 2018.
Please use the Cournot equilibrium to explain that a collusive agreement among
oligopolists may not be stable. (5 %4°)

2. Consider a market with n firms. The cost function of each firm is C=1+2¢g+¢’, and
the market demand curve is Q=8-P.
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(1) In a competitive equilibrium, what is the number of firms in the long-run (n)?
What is the equilibrium price (P)? How much output will each firm produce (g)?
What is the profit of each firm? (8 4-)

(2) If all firms agree to collude and maximize their joint profits, how much output will
each firm produce? What is the equilibrium price? What is the profit of each firm? (6

)

3. In the Mundell-Fleming model, a small open economy with perfect capital mobility
(r = r*) can be described by following two equations:

IS: Y=CX-T) + I(r*) + G + NX(e),

LM: M/P=L{F* Y).

Suppose that the government imposes an import quota to reduce the demand for
imported goods. What happen to aggregate output (¥) and the exchange rate (e) under
floating and fixed exchange rates? (12 %)

Please illustrate the two equations on a graph in which output is on the horizontal axis

and the exchange rate is on the vertical axis.
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